
Table 1: Production

Production cost Absorption
Wage related income 72.000 Private consumption 50.000
Capital related income 28.000 Government consumption 38.964

Capital investment 22.292
Trade balance -11.257

GDP 100.000 GDP 100.000

Table 2: Business Sector

Expenditure Income
Wages 60.000 Output 100.000
Dividends 4.846
Capital investment 22.292
Corporate taxes 0.862
Firm PAYG contributions 9.000
Firm pay-roll taxes 3.000
Total 100.000 Total 100.000

Table 3: Household Sector

Expenditure Income
Private Consumption 50.000 Wages 60.000
Households PAYG contr. 6.000 Publ. transfers to households -41.648
Income tax workers 2.700 PAYG Pensions 23.621
Income tax retirees 1.181 Non-part. benefits 10.363
Consumption taxes 10.000 Dividends 4.846
Accid. bequests given 12.661 Accid. bequests rec. 12.661
Intervivo trans. given 13.737 Intervivo trans. rec. 13.737
Private savings 7.619 Private interest earnings 20.318
Total 103.899 Total 103.899
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Table 4: Government Sector

Expenditure Income
Government Consumption 38.964 Income tax workers 2.700
Publ. transfers to households -41.648 Income tax retirees 1.181
Non-part. benefits 10.363 Firm pay-roll taxes 3.000
Subsidy PAYG system 8.621 Corporate taxes 0.862
Interest payments 2.308 Consumption taxes 10.000

Net fiscal deficit 0.865
Total 18.608 Total 18.608

Table 5: PAYG Pension System

Expenditure Income
PAYG Pensions 23.621 Households PAYG contr. 6.000

Firm PAYG contributions 9.000
Subsidy PAYG system 8.621

Total 23.621 Total 23.621

Table 6: Current Account

Expenditure Income
Net foreign savings 6.754 Trade balance -11.257

Foreign interest earnings 18.010
Total 6.754 Total 6.754
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